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Question Paper-1

Time allowed : 2 Hours Medium : Gujarati

Maximum Marks : 100
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(2)

(3)

(4)
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(6)

{12 oo aizdld 2ude us-did Gr-l il [aseu geudal. (W1 244 2)

“5 ] Bedl 9. tHiRdxAL Anguldnl 2 ] A5al Held daAs . v Ul %, vegd salMA
UL YA LY, 5 dHIRL VL A DAAHIAR HIS dH. Sl UALGLEIR AR 91 7 IR 3. Sl walol
AL, “HIZL ML, W2 Yeoel A1l Ygga), “dHIZ] Hidl dl A8 8l dl Usdl a4l d
5ol 3l oL Haell A% 77 QR SL. SR Aol UL, “HIZL HLL AHRL Sl VRL, UBL el WU
Yeud [Qlas vt d-dl waell o 4oy €9, duel we SRl ollued 9 5, “ol2L | yaseflalell A Rl [Eudell
514 5%, [Asoidlell sel 33191 Al A @anl 21 Rgidlal He Asodldl [QIuRl wR s 9.
3. VOEA SAM Uldlril Darid w3 R si-) wad) v ?

(A) Al Rdl wael (B) dMel Hidl WAdl (C) d¥-l as waell (D) dsl Bt el
3l seum AUl o1=uL d UG dHHL qa Al sdl ?

(A) 352 (B) Aall+s (C) Ruas (D) 4Hluzals

A dretiad il 2uden usqi-u G-l A1l [asey weual. (3 244 4)

“Uldlel MLS SLOURL USIRAL AU 53l 7L UIRSL BUR UAIR L AL, Ve AUH €AY, % vRL A1)
e €9 o oll Wldlel 410y AL €1, 2@ Uld F+il eledl sLSURL Usizetl Gualafl el aiwdl + €ld dal
501 $EUN ALl AL, A Yldlel 6101 247 54 GUR o [ 14 89 2 dellell & Uitd 21 d=
WA A& A B A a2l 2AESIR eloraal, Sl Aol S0 el €idl 24 2, ual
a o4 Uldidl elgedl 4ol dl ¢lo1d 9, bl dl wirsl vaudell d dain sel $29dl «tell. d 4 1o asll
alls UMl «2fl.”

eptsll HyralA L uR [Aann gl e ?

(A) Uil oifg U (B) Uldlril 6101 21 UA5H GUR

(C) WIRSL vauHd BuR (D) fedin »dl-l vt Gur

BURLSd Aavizui suL Alsirl dld scuHi 2udl ¢ ?

(A) VUHAVIR LS5l (B) A4 vinl deidl- dlsl

(C) 2] HiAdl>il (D) Aldaixsgs clsi.

2 2uua aeti aidld d-l DA 2uda usdiqan G-l aicu [Asey gendl. (M.5 244 6)

“e30% Y GLIL 9, HerlgA Al 8 24 ALAL5100 S WA B, 2gell s32: glg 0 9. B 4 WA
soust vild 69, uesl dell &y A i Ul dlg Ald 9. 2L % UHIRL DAL UALS SIHL 24905~

loesel us 2Aledl o 53 9. Hled Adlol GU UHIR AvAL (Al Huedel vt Add adudl sHdR,
Adl2 oidd ASHL. Al sea1y © 5 0l e AvaL [Ql Add Yuie 52,7

Rl sHURl 3 sudlR sia o ?

(A) 50l 080 VAL (AL Yyl s d. (B) gl o Geu-wd W d.
(C) Udcrietl vt 2L d. (D) % «{lotui WA d.

2ani-ll 20005 Y198s caladl Auis g Gersw > ¢ ?

(A) eaLag2lldig (B) ~1{lot-] (C) 2, (D) ydas,
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o -l 2uud siaiad aidld d-l Al 2uden usdiA G-l aicy [Aseu omual. (M. 7 4l 8)
514 53 S @d 2 HIAH
514 52 9 B,
AL HI2L HAds AU
oed oflow 59 Jd 7 2 HdH.
vl WA 530 M ALsimell
o4l 3 gl IR
HISL €9 oL 241 Herdd ML,
SUlAL HOL vz, 3 HidH.

(7)  2uvel e 2uuel wA g ol 8l 6 ?

(A) uRad+ (B) A1 1 ol
(C) M-id ARy wart (D) W3l vld2l 2 Alsimell A4

(8)  sicuinL ool MuRd 2aA 58 {d vigell s ?
(A) AFA%, 514 5304 (B) WidAHL Hoteul Wis il dal Aglaiiel 1R otk
(C) 1L Hend s34, (D) Sl vl 2lA.

o 1 2uen stuind aifld d-l A 2uda usdi-u G- 2oy [dsey gvudal. (3. 9 244 10)
gyl i 81 o 28l ?
Hieldlell 22 9 2l ?
2% URlL Qul dirl vae sui ?
Ulelel i Hidddie, 9 29 ?
elvld €9 sLU Al vl uey ?
Al Helell WiRvl o 29l ?
2L HAAL ¢ ¥ o9 AR
alel HIF] Hietal] 9 29 ?
d sl eudl g s
I gl Ul 9y a7

(9)  2usaiami 59 gedl uRRAlAHA ad sl 2udl 8 ?

(A) 2lagl® (B) »t-ug® (C) &4$4 (D) A21A101
(10) Sl Avidl gl SR [Qalad wu ¢ ?

(A) 922 8UdL S & AR (B) S#ReAl Wi2lHIHL Het A @ldl IR

(C) AR gl 2Usdl 2019 AR (D) 4l Aleidl A ond AR

(11) DA aoeinidl vidl Asell dRpadl ase wHl ?

(A) [AeiBd (B) R4z (C) i (D) AiclulA
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(12) D2 2udan avu-uedl asei-l 59 A3 sitsiadl a4 ?
(A) 2[4 - was (B) 2A4AR-E1A (C) 2uald-ued (D) Ut-d-
(13) A s2cus aosei-u (gl asel 20 9. d-l 21001 530 woual 5 A U4 sui [aseu a9 ?

() (1)

(1) QB (A)  dsalgl

2) Mma- (B) adl

(3) Hwed ©) [re

(4) Gal (D) ddd
[aseul :
(A) (D-(d), (2)-(2), (3)-(c), (4)-(b) (B) (1)-(d), (2)-(0), (3)-(a), (4)-(b)
(©) (1)-(c), (2)-(d), (3)-(b), (4)-(2) (D) ()-(b), (2)-(c), 3)-(d), (4)-(a)

(14) -2 201 AGELAL €921 WIAL 5UL AR-{% L w2l 89 dril [Aseu ansual.
[aseul :
(A) 2UBldst -3 + 2 + 8L+ O + o + 2 +% + L+
(B) &ol-§+U+o+d+3+2
(C) oAUl -e9-+ 2 +d+3+A+U+2+ A+ 9
(D) [AsUr -+ 24+ 3L+ + U+ +

(15) D2 2udan anuel avei-u Rregu-l sul [Asen vigl © d oual.

(A) au] - agdl (B) 42l - -5y (C) dla - dHAR (D) MLl - ¢wig,.
(16) 2™ A Qlugdl - 21 3[duaiol Al 214 g,

(A) olletdl dlag, (B) olldall [dud L gidl

(C) UL 91EL Yl (D) YuAY 61l 284,

(17) -l 2ugcn aoeuys WS s Aot sul [Asey il ) ?
(A) Rl Yz wiell Ylat-l ooul - el (B) ®asl v sRuixiel Hidl ste-iz - wrelau
(C) GURALLLAL BUEL ALS3L 21210 el 941 - 2L3AL (D) Hdls UR Adl warul - 2i(a.
(18) 1A 2uda s causumi [Qarvaidl Guaiol qul ¢ ?
(A) [QenlliA Hisaardl ya-dl o, (B) #leR %9, eald 531, alid A uq.
(C) Aq2(ldMi HIdL AR A3E sUsl usal. (D) %aHial elusdl 2Aleidl dldd edl.

(19) DA 53 sy GunL w151 Berg@A & ?

(A) Y1210 Y219 Y2e91dLell UsLs. (B) (M2 AHL 2L Ul uas.
(C) [Aan el ¥, de 82 ded 34l (D) vl GlouL €9 SflsiL a1 .

(20) DaAu cusuui sy Aulos auy & ?
MRAL 58 8 5 W5 $oruidl 2ud €.

-~

(A) 58 (B) 5 (C) Hiell (D) 414
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(21)  asAl 21 dr usi-Al Wl dl N 2uudl ¢,
(a) 2 54l 510 522 ? (1) [Afusy (b) 215 510 el weg 53 AAeld. (2) uarilaisy
(c) oM ol ond GO B, (3) Geauralss  (d) 23, HA ALl 2acl | 3wy | (4) Rduawsa
® 1 [Addrl e 530 ogual 5 A AL sul [Aseu il ?
(A) (2)-(3), (b)-(1), (¢)-(2), (d)-(4) (B) (a)-(2), (b)-(4), (c)-(1), (d)-(3)
(C) (a)-(1), (b)-(3), (c)-(4), (d)-(2) (D) (a)-(4), (b)-(2), (¢)-(3), (d)-(1)
(22) QAU SHS% K2 e
(A) Ul (B) ACAR1% (C) [ew2ul (D) 8331%
(23) 1A 20t Aocinidl SHAL AsaAAHL QURAAL AGE AL,
(A) el (B) dd (C) s8R (D) Alvil
(24) ARrA 5 DA U 51 il 5 Y3512 Al ol ?
(A) AR 25184 2A9LS (B) &iRdl all-tvls idlé
(C) ALydIM Yael 2igs (D) wHdlRAUS 1l
(25) D2 2udan aoei-l asesiaq s Hae sAl [Asey il ol ?
(Ao, ~u, aul, (Beal, A%, dA[AL, el
(A) &ML, ol LR, Bedl, ~u, [Ques-, alaes
(B) »iolld, »URL, [Bedl, anL, U, [Qus+, Ay
(C) »URRAUL, 2o, [Bedl, &ML, U, A%, [Qu-
(D) ol dAAUL, (Beall, aul, [Qxo-, Alas, sl
(26) Acy, S 241 aHLiL WS sUL AU AN S UM Al WAL &9 ?
(A) RS Hedl (B) Hlgrteld 5. ol (C) sislsol sldas: (D) »aRe Hensll
(27) A 2 [Aseulni sun st a3usdl [@gudl o161 9l ?
(A) g8l - 6L Ulsani 2o 4 1, % Aol ‘e’ s8d ul.
(B) 4545 - AlEld, AAl2dl e DAL datell A12 290 A, Hidl.
(C) 9wl - 6L yelaoll Al 241 % dlssiupML daldl €ld 9.
(D) 81855 - 2leotul 8 sealel 3 29 s2all s0u HLadl URe il 2Udld STl SlAUSIR.
(28)  uHwU 32y, &1o0 24 ousL eruao AlSL UR sUL 5[4 saraml vl 22 53 8 ?
(A) AMI-e (B) -1He (C) 240l (D) 2[R Hedl
(29)  slA2tl 1 dudl s1euzazy DA geudd © dui 59 Qo vildl © ?
(A) RS Hdlel - uAul Aelldi 9. (B) HIRiolS - uel elldi .
(C) wvileL - 9wl oARfldl 9. (D) ALrigel - 21061l Aelldl 9.
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(30) DA 2udan A A d- SR [Qae s34 salda 9. dui sut [Aseuni d-l [Qad ) 1) ?

(31

(32)

(33)

(34)

(35)

(36)

(A) BHIAvLg - ol V312 - GUUL XA (B) URBA - UR (2174) B - ey A
(C) MISHIUL - HIS Vil HIUL - grg- UM (D) AL - Aoyl A0l - dcyy AHIA.
Read the passage and select the most appropriate option.

For ten years he lived with the wolves. Father wolf taught him how to hunt. When he felt hot
ordirty, he swam in the forest pool. Sometimes he wanted honey. Than he climbed up trees like any
monkey. He learnt this from his friend Ballo, the bear. Bagheera, the panther gave mowgli his first
lesson in climbing steep rocks. This man cub was a good and quick pupil. “Little frog”, said Bagheera
when Mowgli was still very young. “You must never hunt either cows or buffaloes. They belong to
man. This is the law of the jungle.”

Sometimes Mowgli went down the hill by night. He looked in the interesting way the men’s
huts. But Baloo and Bagheera taught him to keep away from men.

“Yes, I will live here with the pack.” Mowgli told his friends. “ I was born in the jungle. I have
kept the law of the jungle. I have pulled thorns from the feet of every wolf in the pack. Surely they
all are my brothers.

What is the law of the jungle ?

(A) to hunt cows and buffalows is compulsor
(B) to hunt a man is prohibited

(C) to hunt cows and buffaloes is prohibited.
(D) to hunt a man is compulsory.

How many animals are referred to in the passage ?

(A) seven (B) four (C) Six (D) Five

A group of wolves is called

(A) A pack (B) A herd (C) aswarm (D) a fleet
Where had Mowgli been living ?

(A) in a village (B) on the tree (C) in the jungle (D) on the rock.

- Read the stanza and select the most appropriate answer.

River, river, brimming river !
Broad and deep, and still as time;
seeming still, yet still in Motion,

tending onward to the ocean,

Just like Mortal prime.

In this stanza, river is compared to ...........

(A) Middle-aged Man (B) a careless youth
(C) a child at play (D) an old Man
‘brimming river’ means.............

(A) Completely full river (B) dead river

(C) dry river (D) overflowing river

(6)
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(38)

(39)

(40)

(41)

42)

(43)

(44)

(45)

(46)

The river seems still, yet it is ...............

(A) Brimming (B) Broad (C) Deep (D) in Motion
The river is flowing towards ................

(A) the sun (B) the Motion (C) the ocean (D) the time

Read the following pie-chart and select the most appropriate option.
Favourite Sport

.............. is the most favoured sport.

(A) Football

Swimming
27%

(B) Tennis
(C) HOCkey Football
(D) Cricket 20% Cricket
30%
............... is preferred less than cricket but more than football.
(A) Hockey (B) swimming (C) Tennis (D) soccer

Which statement is correct ?

(A) cricket not so popular as Hockey.

(B) Football is as much popular as swimming.
(C) Tennis is as much popular as Hockey.

(D) Hockey is not so popular as swimming.

Which statement that Tennis enjoys less but not the least popularity is ............

(A) True (B) false (C) can’t say (D) Not given

Select the most appropriate option.

one can find Lord Vishnu in different shapes and .............

(A) Posture (B) Postures (C) Posctures (D) Poster

Udaymati took up the project for ............ the problems of water scarcity faced by the people
of patan.

(A) to solve (B) solving (C) sollution (D) solve

We can enjoy the ......... of nature in Shimla.

(A) beautiful (B) beatifully (C) beauty (D) to beautify

Find out the most appropriate reported sentence.
She said to her friend, “Do you think your teacher will come today ?”

(A) She told her friend that she thought her teacher would come thatday.

(B) She asked her friend whether she thought her teacher would come that day.
(C) She asked her friend if she thinks her teacher would come that day.

(D) She asked her friend whether she thought her teacher will come that day.

(7)
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(48)

(49)

(30)

(31

(32)

(33)

(54)

(35)

(56)

She said, “ I tore them for my surprise”

(A) She said that she tore them for her surprise.

(B) She told that she had torn them for my surprise.

(C) She said that she had torn them for her surprise.

(D) She said that she had tore them for her surprise.

Select the most appropriate question to get the underlined word / phrase as an answer :
He ran very fast to reach the school.

(A) How did he run to reach the school ?  (B) Why did he run fast ?

(C) When will he reach the school ? (D) What dii he do to non fast ?
He gives perfect answers.

(A) Who is capable to give perfect answers ?

(B) What did he give perfectly ?

(C) What does he give perfectly ?

(D) How does he give answers ?

Find out the most similar word

Wicked

(A) honest (B) evil (C) weak (D) strong

to taxi

(A) acar (B) on rent (C) move slowly (D) a plane
Frightened

(A) cruel (B) fighter (C) soldier (D) scared.

Identify the funtion of launguage.

He bought neither a scooter nor a car.

(A) Showing emotion (B) showing necessity
(C) showing alternative (D) showing contrast

Complete the sentence with language function ‘contrast’ pahom ranfast to reach the starting
point.

(A) but could not reach in time. (B) and he tumbled in the way and fell down.
(C) so that he could get more land. (D) so he was deadly tired.
Select the most suitable conjuction to complete the meanigful sentence :

Raja works hard, he doesn’t get the expected result.

(A) since (B) When (C) Though (D) In spite of
Work hard you will not succeed.
(A) or (B) but (C)so (D) and

Arrange the jumbled parts to make meaningful sentences :

®)



(57)

(38)

(39)

(60)

(61)

(62)

(63)

(64)

(65)

raining heavily jtis not possible asitis , to go out  for us

! 273 T 5 6
(A)6,4,3,2,5,1 (B)4,1,2,3,6,5 (©)3,2,1,4,5.6 (D)6,1,2,3,4,5
Gujarat / it / Ahmedabad / most polluted ,one of the | cities of
1 2 3 4 5 6
(A)3,2,5,4,6,1 (B)4,2,1,3,5,6 (©)3,2,5,6,1,4 (D)5,6,1,2,4,3
Find out the most appropriate response to complete the dialogue.
Kiran: __ (59)

Naren : I went to my native.

Kiran : How long did you stay there ?

Naren: __ (60)

(A) Where did you go last monday ?

(B) when did you go to your native ?

(C) How did you go to your native ?

(D) Why did you go to your native ?

(A) For my cousin’s marriage.

(B) It was two feet long.

(C) At3pm.

(D) Fortwo days.

ARl ManHEdl MM HAS, Hald (AAS) AR e ui yRaRAH 2au-n as.
(A) 6log3 (B) sldsiril (C) 24eldls (D) a3lerl

12 eaida dad grdl-l uvunellui sla BelR AadR A’ dils v 8 ?

(A) [Qlaux oiles  (B) ?lun (C) 534 (D) aael

ulH Al 0 [@raryl [Aya wwani vl da Asng sia da gal -8 sai o ?
(A) SR, SUS, §9d, AGel 2B1L 2 o1& R+

(B) AR, S\, Hod-s, siu

(C) AJuL, HIRd, Addxs, 1AL
(D) wldiq, A, glleist, A58l

12 21veAuqu Baall sl . FHi su1L Gagu-l uHIAL Adl el ?

(A) A Al 2 Al nagl

(B) idANIY el aifaxy da verdl gzl 634 dladl.
(C) 835 A w1y A2+l 2vilddl waadl.

(D) Yallla g, Amdl.

AYSd AL A HAS sUL AU 2udY €9 ?
(A) ollén (B) AH (C) ~4l$ (D) (Rl
©))



(66)

(67)

(68)

(69)

(70)

(71)

(72)

(73)

(74)

(75)

2 200l 2usla 56 [Qazizad © d 2invll siaal.
(A) LL.O.

(B) UNICEF
(C) UNESCO
(D) FA.O.

ol@uicucn cuarll a2 sui as edl ?

(A) Adlote (B) slaslitil (C) HHdAR (D) @lslR
lde s1agld UHloovl Sal SuEl s8l Sl ?
(A) 590 (B) 241l (C) il (D) w3dAl

uL Al A uR [Ee-l YR Avgtacr Anan 518 s51u1 ?

(A) 20D s (B) AReRR AL (C) AeH [Moisa st (D) Heddld HloRi
A3 galdai QA 59 ae- 0 Asnaal 9, d 2invll siadl.

(1) HA A4S 51 st dls Dl

) HelRAMLS 2US A HelMFrsHeL AL ueud 6.

glRALeRAL s121205 uRL 1L 220l Halsid dda AR URg sul.

) [BulRaL Aziosarl SHIRdrAL WMl gell dou 6.

(A) ALY 516101 (B) sidls (C) A5 2icldn (D) (€ 913l Anqa

RURdrL slRRran 931 su1 UH 2invdl Sl ?

(A) ‘BlerLulde’  (B) vigHld U~ C)vaawd= (D) elae turd

GURAL NHIRIRAHAG, AT 54 6 ? il 2AURS AHU % AHA HIRdAAL WHIRRAHU HIAAUH] 204 97
(A) 84°.20% yd Ruiiagd  (B) 82°.30% yd miiad

(C) 80°.42% yd Juiagd (D) 81°2.45% yd Juiag

o18e [SHIAUHT sUL-5uL A12 2uden 9 ?

SN—"

(2
(3
(4

(A) 20, aull, oedla (B) 3812112, HHAAL, 1YL
(C) SRASIRM, ged, sioL3L (D) Faludl, digal, Rrdlal.
2igHi-[Rsion: dluaneing 2uda sul rasuyvll curd-l ulsu suouyeil € ?
(A) 61+ (B) 33+ (C) &z (D) dleet

MIRA e sHi salddl A€l 20l sidial.

(A) sl el
(B) g%u el
(C) 5193] gl

(D) ULl gl
Bay of




(76)

(77)

(78)

(79)

(80)

(81)

(82)

(83)

(84)

(85)

(86)

(87)

(88)

H WRAHL HACUR [3UR Yddl 18 $AL -UH o 9 ?
(A) 2RAML (B) oieleil aul (C) uHas] (D) [dxanl
aiuel Al Geunt s Preauni vudg © ?

(A) AHARIR (B) ARzl (C) AeULS (D) el S18L
[0 drgsirit uddlu [l (o o evig uall 534 ¢ ?

(A) YRvilol (B) Rdl-il (C) ®IRLS (D) Ulue

534 AMARRY IR Alefl Hi2l [ReR HRAad AMuRRU €9 ?

(A) 529 0L (B) ddL3 (C) *ladR (D) 22

SLmS1L AUMARRY, $UL ABAH 20dg €9 ?

(A) 9l (B) HAULL (C) H8IRI (D) 2Lasld
BL3dl [Brasicllail sui A v €9 ?

(A) 549+l Hl2L WIHI (B) [RHiau-tL Gl uddla [AdRiHi
(C) sesdril [AcIRML (D) ulBHaeAl ol adiui

fam an [Bax’ K02 Goaaimi »ud ¢ ?

(A) 29 R0 (B) 22 1 (C) 54l %+ (D) 214l 1A

QURAME S5 2 A% a2 Aty UL 24 [Aag (s sl 20 8. B A2 gl sirrul
sl 20dl 69, d WA 2Ar wigluidl sui-sul [Quai-l amda sl uel € ?
(A) uree, [zl cuotdl, 2ugalsd, ), dlHL, Al¥oL, diz, euwld, @d
(B) slUEl vinl aell, 2Rs a1l A, $M RA1S-241R104-643 21
ABULAL 2R S AWR AllBlosu-{l Al
(C) SloelLl suoldl, @, £92193L 2t Gierdlyel, [Biael, »UlELs 2uloet, Al Al

(D) AZUAML - [At1A RN - dlsuL] el A1

ABUAUMLAL ACUAL AHALUVU 2L QAL Slu ¢ ?

(A) 5 Ay (B) 6 ad (C) 4 ad (D) 7 a
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